[ Efficiency vs vertpos |

- 0.2
20.18
2

20.16

U -
§0.14F
O o
£0.12F
0.1F
0.08F

0.06
0.04
0.02

.................................................

.................................................

1.0

Ratio

0.95

-

=
2
N

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__original

| —— DQM_TT_ detQ0_PU
Efficiend . pom_T7_detQ1_Pu

N 0.2
$0.18
[d
>0.16
>
<
50.14

o
£0.12
(]

0.1
0.08F
0.06F
0.04f

0.02

N T T
: At

bl e nnllnmqr ?n ] :F !

-30 -20 -10 0 10 20 30

TP vert z (cm)

Ratio

Sim. PV z (cm)



	Contents
	Page 1


